Verb Conjugation Comparisons: Imperfect, 1st Aorist and 2nd Aorist

Imperfect, 1st Aorist, and 2nd Aorist Active Indicative
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Person Tense Singular Person Tense Plural

1 Imperfect |¢ [Av |o 1 Imperfect e | o |uev
2nd Aorist |e T lo v 2nd Aorist |e T lo ey
1st Aorist  |e AL loo 1st Aorist  |e AV oo |uev

2 Imperfect [e |iv e |c 2 Imperfect |¢ |Av [e |te

2nd Aorist |e AT le C 2nd Aorist |e AT le T€

1st Aorist  |e AL foa ¢ 1st Aorist  |e AL loo |te

3 Imperfect [e |Av |e |(v) 3 Imperfect e [iv [0 |v

2nd Aorist |e AT le v) 2nd Aorist |e T lo v

1st Aorist  |e AL foe  |(v) 1st Aorist  |e AL loo v

Imperfect Middle/Passive Indicative and 1st Aorist & 2nd Aorist Middle Indicative
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Person Tense Singular Person Tense Plural
1 Imperfect e [iv |0 [umv 1 Imperfect e [Av |0 [ueBa
2nd Aorist |e T lo unv 2nd Aorist |[e at lo 1ebo
Ist Aorist [e |Av [oo [umy Ist Aorist [e |Av oo |ueBo
2 Imperfect |¢ [iv |ov 2 Imperfect |¢ [Av ¢ |o6¢
2nd Aorist |e i lov 2nd Aorist |[e LT le 06¢
Ist Aorist |e |Av |ow Ist Aorist |e [Av |oo [oBe
3 Imperfect |¢ [iv [¢ |0 3 Imperfect |¢ |iv [0 |vto
2nd Aorist |e LT le TO 2nd Aorist |e At lo VTO
1st Aorist e w loa |to 1st Aorist e w loa lvro
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